| Efficiency vs Dxy |

0.5
<

S : : : : : : : : :
LA

> : : : : : : : : :
o muRRRL SECERECERECREE e CRREEEE RS ARRERELEELEREE ARREEE Breeee
g 0.4 S

3.35
0.3
0.25
0.2
0.15
0.1

eff

0.05

o+

Rati

!

0.95,

S ET50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

kFit neWStudyﬁ4
kEit newStudy

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

NM—mMRET_T Torgimnat
“mkFIit_TT _newStudy
m
m
m

N 0.5
©
9.45
oy
_5 0.4
(&)
.35
()
0.3
0.25
0.2

kFit“TT _newStudyhp4

o
PR
R e
—~ ¥
bt e
> o r
il —~ 1
#»-
.

30 20 -10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


